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1. “Environer”  ftlls Environment  'kCn cuk
gS] fdl Hkk"kk ls lEcfU/kr gS\

(A) teZu

(B) ySfVu

(C) Ýsap

(D) xzhd

2. fuEufyf[kr esa ls dkSu&lh [kk| Ükà[kyk ÅtkZ
izokg dks lgh :i ls iznf'kZr djrh gS\

(A) ?kklcktpwgkliZ

(B) ?kklpwgkliZckt

(C) pwgkliZ ?kklckt

(D) liZ ?kklpwgkckt

3. fuEufyf[kr esa ls dkSu ,d u mM+ ldus
okyk i{kh gS\
(A) isafXou
(B) 'kqrqjeqxZ
(C) eksj
(D) ckt

4. ikfjra= esa fuEufyf[kr dks lfEefyr fd;k x;k
gS %
(A) gjs isM+&ikS/kksa rFkk thoksa dks
(B) vi?kVdksa rFkk gjs&Hkjs ikS/kksa dks
(C) mRikndksa rFkk miHkksDrkvksa dks
(D) gjs&Hkjs ikS/kksa] thoksa] fo?kVdksa rFkk

vtSfod okrkoj.k dks
5. lcls egÙoiw.kZ vtSfod dkjd gS %

(A) ty
(B) ekSle
(C) eǹk dk LoHkko
(D) izdk'k vof/k

1. “Environer” from which environment word

has been coined, belongs to which

language?

(A) German

(B) Latin

(C) French

(D) Greek

2. Which of the following food chains is correct

in terms of energy flow?

(A) Grasses Hawks Mice
Snakes

(B) GrassesMice Snakes
Hawks

(C) Mice Snake Grasses
Hawks

(D) SnakesGrassesMice
Hawks

3. Which bird cannot fly?

(A) Penguin

(B) Crane

(C) Peacock

(D) Falcon

4. An “Ecosystem” consists of :

(A) Green plants and animals

(B) Decomposers and green plants

(C) Producers and consumers

(D) Green plants, animals,

decomposers and abiotic

environment

5. Most important abiotic factor is :

(A) Water

(B) Climate

(C) Property of soil

(D) Photoperiod
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6. Which of the following is not responsible for

atmospheric pollution?

(A) Sulphur dioxide

(B) Hydrogen

(C) Carbon dioxide

(D) Carbon monoxide

7. The biggest problem in building dams in

India is :

(A) Less number of rivers

(B) No water in rivers

(C) Flood control

(D) Rehabilitation

8. What is the level of Noise Pollution?

(A) 10-25 dB

(B) 35-50 dB

(C) 65-80 dB

(D) 85-100 dB

9. Chipko Movement is related with :

(A) Flood

(B) Natural disasters

(C) Tribal

(D) Deforestation

10. In which city oil refinery is situated?

(A) Mathura

(B) Agra

(C) Varanasi

(D) Aligarh

6. fuEufyf[kr esas ls dkSu&lk ok;qe.Myh; iznw"k.k
ds fy, mÙkjnk;h ugha gS\

(A) lYQj MkbvkWDlkbM

(B) gkbMªkstu

(C) dkcZu MkbvkWDlkbM

(D) dkcZu eksuksvkWDlkbM

7. Hkkjr esa ck¡/k fuekZ.k dh lcls cM+h leL;k
gS %

(A) ufn;ksa dh de la[;k

(B) ufn;ksa esa tyghurk

(C) ck<+ fu;a=.k

(D) iquokZl

8. /ofu iznw"k.k dk Lrj D;k gS\

(A) 10-25 dB

(B) 35-50 dB

(C) 65-80 dB

(D) 85-100 dB

9. fpidks vkUnksyu lEcfU/kr gS %

(A) ck<+ ls

(B) izkÑfrd vkink ls

(C) tutkfr;ksa ls

(D) ou fouk'k ls

10. fdl uxj esa rsy 'kks/kd la;a= LFkkfir gS\

(A) eFkqjk

(B) vkxjk

(C) cukjl

(D) vyhx<+
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11. In India, highest number of wildl ife

sanctuary is in :

(A) Himachal Pradesh

(B) Andaman-Nicobar

(C) Meghalaya

(D) Kerala

12. Secondary consumer are :

(A) Herbivores

(B) Carnivores

(C) Green plants

(D) None of the above

13. Holy plant of India is :

(A) Walnut

(B) Babool

(C) Cashewnut

(D) Tulsi

14. Central Ganga Authority was constituted in :

(A) 1981

(B) 1983

(C) 1985

(D) 1990

15. The main product of photosynthesis is :

(A) Lipid

(B) Carbohydrate

(C) Protein

(D) Water

11. Hkkjr esa lokZf/kd oU;tho vH;kj.; gSa %

(A) fgekpy izns'k esa

(B) v.Meku&fudksckj esa

(C) es?kky; esa

(D) dsjy esa

12. f}rh;d miHkksDrk gksrs gSa %

(A) 'kkdkgkjh

(B) ekalkgkjh

(C) gjs isM+

(D) mijksDr eas ls dksbZ ugha

13. Hkkjr dk ifo= ikS/kk gS %

(A) v[kjksV

(B) ccwy

(C) dktw

(D) rqylh

14. dsUnzh; xaxk izkf/kdj.k dk xBu fd;k x;k %

(A) 1981 esa

(B) 1983 esa

(C) 1985 esa

(D) 1990 esa

15. izdk'kla'ys"k.k fØ;k dk izeq[k mRikn gS %

(A) olk

(B) dkcksZgkbMªsV

(C) izksVhu

(D) ty
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16. fuEufyf[kr thoe.My dks"k esa dkSu&lk] xSaMksa
ds fy, izfl) gS\

(A) ekul

(B) dkthjaxk

(C) uenkQk

(D) fyfVy ju vkWQ dPN

17. ek;lZ (2000) ds vuqlkj] fo'o esa rIr LFkkuksa
dh la[;k gS %

(A) 93

(B) 25

(C) 123

(D) 47

18. ty iznw"k.k dk izeq[k dkj.k gS %

(A) /kqvk¡

(B) dhVk.kquk'kd

(C) ok;q;ku

(D) vkVkseksckby iznw"kd

19. jklk;fud m|ksxksa dk tUenkrk fdl ns'k dks
ekuk tkrk gS\

(A) xzsV fczVsu

(B) teZuh

(C) Ýkal

(D) bVyh

20. ^dsUnzh; pkjk vuqla/kku dsUnz* fLFkr gS %

(A) Xokfy;j esa

(B) >kalh esa

(C) vkxjk esa

(D) t;iqj esa

16. Which one of the following biosphere

reserve is famous for Rhinoceros?

(A) Manas

(B) Kaziranga

(C) Namdapha

(D) Little Rann of Kutch

17. According to Myers (2000), the number of

hotspot in the world is :

(A) 93

(B) 25

(C) 123

(D) 47

18. Main cause of water pollution is :

(A) Smoke

(B) Pesticides

(C) Aeroplane

(D) Automobile pollutants

19. Which country is known as birth place of

chemical industry?

(A) Great Britain

(B) Germany

(C) France

(D) Italy

20. ‘Central Fodder Research Institute’ is situated

at :

(A) Gwalior

(B) Jhansi

(C) Agra

(D) Jaipur
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21. National Water Creature is :

(A) Dolphin

(B) Tortoise

(C) Crocodile

(D) Frog

22. Which one ecosystem has been recently

discovered?

(A) High saline lake

(B) Tundra

(C) Glacier

(D) Volcano vent

23. India has become self-dependent due to

‘Green Revolution’ in :

(A) Minerals

(B) Milk

(C) Foodgrain

(D) Sugar

24. Which one Tiger Project is correctly

matched?

     

(A) Namdapha – Meghalaya

(B) Pench – Madhya Pradesh

(C) Buxa – Assam

(D) Valmiki – Uttar Pradesh

25. “Rajaji National Park” is situated at :

(A) Orissa

(B) Tamil Nadu

(C) Uttarakhand

(D) Madhya Pradesh

21. jk"Vªh; ty tho gS %

(A) MkWfYQu

(B) dNqvk

(C) ?kfM+;ky

(D) es<d

22. gky esa [kkstk x;k ikfjra= dkSu&lk gS\

(A) vfryo.kh; >hy

(B) VqUMªk

(C) fgekuh

(D) Tokykeq[kh eq[k

23. Hkkjr] gfjr ØkfUr ls vkRefuHkZj gqvk gS %

(A) [kfut esa

(B) nqX/k esa

(C) [kk|kUu esa

(D) 'kdZjk esa

24. dkSu ,d ck?k ifj;kstuk lqesfyr gS \

           

(A) uenkQk – es?kky;

(B) isap – e/; izns'k

(C) cDlk – vle

(D) okYehfd – mÙkj izns'k

25. jktkth jk"Vªh; ikdZ fLFkr gS %

(A) mM+hlk esa

(B) rfeyukMq esa

(C) mÙkjk[k.M esa

(D) e/; izns'k esa

[P.T.O.]
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26. Which one sea life will be largely affected

by global warming?

(A) Whale

(B) Seahorse

(C) Corals

(D) Plankton

27. Which one ecosystem has lowest number

of decomposers?

(A) Pond

(B) Grassland

(C) Cropland

(D) Desert area

28. Which one is biosphere reserve?

(A) Jim Corbett

(B) Bandhavgarh

(C) Tadoba

(D) Valley of Flowers

29. Which one of the following is not correctly

matched?

                 

Biosphere Reserve State

(A) Bandipur – Karnataka

(B) Kanchenjunga – Sikkim

(C) Gir – Gujarat

(D) Shivpuri – Bihar

30. Who attempted to define ecosystem in year

1935?

(A) E.P. Odum

(B) R.L. Lindeman

(C) A.G. Tansley

(D) C.C. Park

26. Hkwe.Myh; rkiu ls dkSu&lk ,d leqnzh;
tho lokZf/kd izHkkfor gksxk\

(A) Ogsy

(B) leqnzh ?kksM+k

(C) dksjy ¼ew¡xk½

(D) IySadVu

27. fo;kstdksa dh la[;k fdl ikfjra= esa lcls
de gksrh gS\

(A) ljksoj

(B) ?kkl izns'k

(C) 'kL; izns'k

(D) e#LFkyh; {ks=

28. dkSu&lk ,d thoe.My ifjj{k.k {ks= gS\

(A) fte dkWcsZV

(B) ckU/kox<+

(C) rMksck

(D) Qwyksa dh ?kkVh

29. fuEufyf[kr esa ls dkSu&lk lgh lqesfyr ugha
gS\

       

lqjf{kr tSoe.My izns'k

(A) ckanhiqj – dukZVd

(B) daputaxk – flfDde

(C) fxj – xqtjkr

(D) f'koiqjh – fcgkj

30. o"kZ 1935  esa ikfjra= dks fdlus ifjHkkf"kr
djus dk iz;kl fd;k\

(A) bZ-ih- vksMe

(B) vkj-,y- fyaMeSu

(C) ,-th- Vkalys

(D) lh-lh- ikdZ
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31. The disease caused by noise pollution is :

(A) Cholera

(B) High blood pressure

(C) Jaundice

(D) Tuberculosis

32. The place of origin of rice is :

(A) South America

(B) Japan

(C) Europe

(D) Indonesia

33. Which one of the following pair is not

properly matched?

      

Project Tiger State

(A) Bandipur – Karnataka

(B) Ranthambore – Rajasthan

(C) Sunderban – Assam

(D) Simlipal – Orissa

34. Use of natural resources is excessive in :

(A) India

(B) China

(C) United States of America

(D) Brazil

35. Biogas is obtained from :

(A) Animal excreta

(B) Bird excreta

(C) Waste

(D) None of the above

31. /ofu iznw"k.k ls mRiUu gksus okyk jksx gS %

(A) gStk

(B) mPp jDrpki

(C) ihfy;k

(D) risfnd

32. pkoy dh mRifÙk dk LFkku gS %

(A) nf{k.k vesfjdk

(B) tkiku

(C) ;wjksi

(D) b.Mksusf'k;k

33. fuEufyf[kr esa ls dkSu&lk ;qXe lqesfyr ugha
gS\

   

izkstsDV Vkbxj izns'k

(A) ckanhiqj – dukZZVd

(B) j.kFkEHkkSj – jktLFkku

(C) lqUnjcu – vle

(D) fleyhiky – mM+hlk

34. izkÑfrd lalk/kuksa dk lokZf/kd nksgu gksrk
gS %
(A) Hkkjr esa
(B) phu esa
(C) la;qDr jkT; vesfjdk esa
(D) czkthy esa

35. ck;ksxSl mRiUu gksrh gS %

(A) i'kqey ls

(B) iaNhey ls

(C) dwM+s ls

(D) mijksDr esa ls dksbZ ugha
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36. Which one country has the largest mammal

diversity?

(A) Mexico

(B) Indonesia

(C) India

(D) Madagascar

37. The term ‘ecology’ was coined by :

(A) Odum

(B) Reiter

(C) Tansley

(D) None of the above

38. Dachigam National Park is located at :

(A) Rajasthan

(B) Jammu and Kashmir

(C) Gujarat

(D) Kerala

39. The example of artificial ecosystem is :

(A) Aquarium

(B) Crop

(C) Both (A) and (B)

(D) None of the above

40. The main protected animal of Kanha Wildlife

Sanctuary is :

(A) Elephant

(B) Lion

(C) Tiger

(D) Blue Bull

36. fdl ns'k esa Lruik;h thoksa esa lokZf/kd fofoèkrk
gS\

(A) eSfDldks

(B) b.Mksusf'k;k

(C) Hkkjr

(D) esMkxkLdj

37. ^bdksykWth* 'kCn ds vkfo"dkjd gSa %

(A) vksMe

(B) fjVj

(C) VsUlys

(D) mijksDr esa ls dksbZ ugha

38. nkphxke jk"Vªh; m|ku fLFkr gS %

(A) jktLFkku esa

(B) tEew&d'ehj esa

(C) xqtjkr esa

(D) dsjy esa

39. Ñf=e ikfjfLFkfrd ra= dk mnkgj.k gS %

(A) eNyh?kj

(B) Q+ly

(C) nksuksa (A) vkSj (B)

(D) mijksDr esa ls dksbZ ugha

40. dkUgk oU;tho vH;kj.; esa eq[; lajf{kr
tkuoj gS %

(A) gkFkh

(B) flag

(C) ck?k

(D) uhyxk;
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41. Which type of energy contributes highest in

power production in India?

(A) Hydropower energy

(B) Atomic energy

(C) Thermal power

(D) Solar energy

42. Fruits and vegetables are rich source of :

(A) Protein

(B) Fat

(C) Carbohydrate

(D) Minerals and Vitamins

43. In which state installed capacity of wind

energy is highest?

(A) Gujarat

(B) Rajasthan

(C) Tamil Nadu

(D) Andhra Pradesh

44. Main source of noise pollution is :

(A) Transport

(B) Industrial machines

(C) Means of recreations

(D) All of the above

45. “Poverty is the main pollutant”, this statement

is of :

(A) Mahatma Gandhi

(B) Rajiv Gandhi

(C) Indira Gandhi

(D) Sonia Gandhi

41. Hkkjr esa ÅtkZ mRiknu esa lokZf/kd Hkkxhnkjh
fdl ÅtkZ dh gS\

(A) tyfo|qr ÅtkZ

(B) ijek.kq ÅtkZ

(C) rki fctyh

(D) lkSj ÅtkZ

42. Qy vkSj lfCt;k¡ vPNs lzksr gSa %

(A) izksVhu ds

(B) olk ds

(C) dkcksZgkbMªsV ds

(D) [kfut ,oa foVkfeu ds

43. fdl jkT; esa iou ÅtkZ dh laLFkkfir {kerk
lokZf/kd gS\

(A) xqtjkr

(B) jktLFkku

(C) rfeyukMq

(D) vkU/kz izns'k

44. /ofu iznw"k.k ds izeq[k lzksr gSa %

(A) ifjogu

(B) vkS|ksfxd e'khusa

(C) euksjatu ds lk/ku

(D) mijksDr lHkh

45. ^^fu/kZurk lcls cM+k iznw"kd gS**] fdldk
dFku gS\

(A) egkRek xka/kh

(B) jktho xka/kh

(C) bafnjk xka/kh

(D) lksfu;k xka/kh

[P.T.O.]
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46. ‘South Gangotri’ is situated at :

(A) Himalaya

(B) Arctic

(C) Greenland

(D) Sahara

47. ‘Earth Day’ is celebrated on :

(A) 28 February

(B) 21 March

(C) 5 June

(D) 22 June

48. Making of compost fertilizer takes :

(A) 5 days

(B) 5-10 days

(C) 10-15 days

(D) 15-20 days

49. A state with maximum forest cover is :

(A) Bihar

(B) Karnataka

(C) Madhya Pradesh

(D) Uttar Pradesh

50. Which one of the following is alternative

source of energy?

(A) Tidal Energy

(B) Geo-Thermal Energy

(C) Bio-diesel

(D) All of the above

46. nf{k.k xaxks=h fLFkr gS %

(A) fgeky; esa

(B) vkdZfVd esa

(C) xzhuyS.M esa

(D) lgkjk esa

47. ^i`Foh fnol* eukrs gSa %

(A) 28 Qjojh dks

(B) 21 ekpZ dks

(C) 5 twu dks

(D) 22 twu dks

48. dEiksLV [kkn cuus esa le; yxrk gS %

(A) 5 fnu

(B) 5-10 fnu

(C) 10-15 fnu

(D) 15-20 fnu

49. lokZf/kd oukPNkfnr izns'k gS %

(A) fcgkj

(B) dukZVd

(C) e/; izns'k

(D) mÙkj izns'k

50. fuEu esa ls dkSu ÅtkZ dk oSdfYid lzksr gS\

(A) Tokjh; ÅtkZ

(B) Hkw&rkih; ÅtkZ

(C) tSo&bZa/ku

(D) mijksDr lHkh
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51. Moon does not support life due to absence

of :

(A) Oxygen

(B) Carbon dioxide

(C) Nitrogen

(D) Water

52. Global warming increases maximum by :

(A) Chloro-Fluoro-Carbon

(B) Carbon dioxide

(C) Oxygen

(D) Volcanic gases

53. “Green revolution” is related to :

(A) Industries

(B) Water Transport

(C) Agriculture

(D) Afforestation

54. Main cause of air pollution is :

(A) Pesticide

(B) Noise

(C) Chemical discharge from industries

(D) Smoke

55. Which one project for wildlife protection is

not working like tiger project?

(A) Rhinoceros Project

(B) Crocodile Project

(C) Elephant Project

(D) Hangul Project

51. pUnzek ij thou ugha gS D;ksafd ogk¡ ij
vHkko gS %

(A) vkWDlhtu dk

(B) dkcZu MkbvkWDlkbM dk

(C) ukbVªkstu dk

(D) ty dk

52. lokZf/kd Hkwrki c<+krh gS %

(A) Dyksjks&¶yksjks dkcZu

(B) dkcZu MkbvkWDlkbM

(C) vkWDlhtu

(D) Tokykeq[kh xSlsa

53. gfjr Økafr dk lEcU/k gS %

(A) m|ksx ls

(B) ty ;krk;kr ls

(C) Ñf"k ls

(D) o`{kkjksi.k ls

54. ok;q iznw"k.k dk izeq[k dkj.k gS %

(A) dhVk.kquk'kd inkFkZ

(B) /ofu

(C) vkS|ksfxd mfPN"V

(D) /kqvk¡

55. ck?k ifj;kstuk ds leku oU;tho laj{k.k gsrq
dkSu&lh ,d ifj;kstuk dk;Zjr ugha gS\

(A) xSaMk ifj;kstuk

(B) ?kfM+;ky ifj;kstuk

(C) gkFkh ifj;kstuk

(D) gaxqy ifj;kstuk

[P.T.O.]
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56. Rajgiri Wildlife Sanctuary is located at :

(A) Bihar

(B) Uttarakhand

(C) Assam

(D) Gujarat

57. June 5th is celebrated as :

(A) World AIDS Day

(B) World Earth Day

(C) World Population Day

(D) World Environment Day

58. Mangrove vegetation is found in :

(A) Punjab

(B) West Bengal

(C) Assam

(D) Bihar

59. The word “Biodiversity” was used for the first

time by scientist :

(A) A.G. Tansley

(B) E.A. Norse

(C) Odum

(D) Richter

60. Pyramid of number in a grassland is :

(A) Upright

(B) Inverted

(C) Sometimes upright, sometimes

inverted

(D) None of the above

56. jktfxfj oU;tho vH;kj.; fLFkr gS %

(A) fcgkj esa

(B) mÙkjk[k.M esa

(C) vle esa

(D) xqtjkr esa

57. 5 twu dks euk;k tkrk gS %

(A) fo'o ,M~l fnol

(B) fo'o i`Foh fnol

(C) fo'o tula[;k fnol

(D) fo'o i;kZoj.k fnol

58. Hkkjr esa eSUxzkso ouLifr dgk¡ ik;h tkrh gS\

(A) iatkc esa

(B) if'pe caxky esa

(C) vle esa

(D) fcgkj esa

59. ^^tSofofo/krk** 'kCn dk loZizFke iz;ksx djus
okys oSKkfud dk uke gS %

(A) ,-th- VkUlys

(B) bZ-,- ukslZ

(C) vksMe

(D) fjDVj

60. ?kkl ra= esa la[;k dk fijkfeM gksrk gS %

(A) lh/kk

(B) mYVk

(C) dHkh lh/kk] dHkh mYVk

(D) mijksDr esa ls dksbZ ugha
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61. Which one ecosystem has lowest

biodiversity?

(A) Desert

(B) Lake

(C) Pond

(D) Grassland

62. Natural decomposers are :

(A) Bacteria and Fungi

(B) Virus

(C) Algae

(D) Amoeba

63. ‘Ghana Bird Sanctuary’ is situated at :

(A) Uttar Pradesh

(B) Rajasthan

(C) Bihar

(D) Orissa

64. Which one climatic factor is not responsible

for soil erosion?

(A) Rainfall

(B) Temperature

(C) Wind

(D) Air pressure

65. Biodiversity Day is celebrated on :

(A) 20 May

(B) 21 May

(C) 22 May

(D) 23 May

61. fdl ikfjra= esa tSofofo/krk lcls de gS\

(A) e#LFky

(B) >hy

(C) rkykc

(D) ?kkl dk eSnku

62. izkÑfrd vi?kVd gSa %

(A) thok.kq vkSj dod

(B) fo"kk.kq

(C) 'kSoky

(D) vehck

63. ?kkuk i{kh fogkj fLFkr gS %

(A) mÙkj izns'k esa

(B) jktLFkku esa

(C) fcgkj esa

(D) mM+hlk esa

64. dkSu&lk ,d tyok;oh; dkjd e`nk vijnu
ds fy, mÙkjnk;h ugha gS\

(A) o"kkZ

(B) rkiØe

(C) gok

(D) ok;qnkc

65. tSofofo/krk fnol euk;k tkrk gS %

(A) 20 ebZ dks

(B) 21 ebZ dks

(C) 22 ebZ dks

(D) 23 ebZ dks
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66. Bhopal gas tragedy took place on :

(A) 3rd December, 1984

(B) 5th December, 1984

(C) 3rd December, 1982

(D) 3rd December, 1986

67. ‘IIVR’ is situated at :

(A) Lucknow

(B) Varanasi

(C) Kolkata

(D) Bangalore

68. How many biosphere reserves have been

established in India?

(A) 10

(B) 11

(C) 12

(D) 13

69. Crocodiles are found in :

(A) Forests

(B) Rivers

(C) Ocean

(D) Deserts

70. Atmospheric temperature is measured by :

(A) Minimum-Maximum Thermometer

(B) Photometer

(C) Dry-Wet Thermometer

(D) Barometer

66. Hkksiky xSl =klnh gqbZ Fkh %

(A) 3 fnlEcj] 1984 dks

(B) 5 fnlEcj] 1984 dks

(C) 3 fnlEcj] 1982 dks

(D) 3 fnlEcj] 1986 dks

67. ‘IIVR’ fLFkr gS %

(A) y[kuÅ esa

(B) okjk.klh esa

(C) dksydkrk esa

(D) cSaxyksj esa

68. Hkkjr esa fdrus thoe.My fjtoZ LFkkfir fd,
x, gSa\

(A) 10

(B) 11

(C) 12

(D) 13

69. exjePN ik;s tkrs gSa %

(A) taxyksa esa

(B) ufn;ksa esa

(C) leqnz esa

(D) jsfxLrku esa

70. okrkoj.kh; rkieku fdlds }kjk ekik tkrk
gS\

(A) U;wure&vf/kdre rkiekih }kjk

(B) QksVksehVj }kjk

(C) 'kq"d&ue rkiekih }kjk

(D) cSjksehVj }kjk
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71. The part of the earth, in which living organism

live is called :

(A) Niche

(B) Habitat

(C) Environment

(D) Biosphere

72. Who has directed NCERT to prepare model

syllabus for environmental education?

(A) Ministry of Human Resource

Development

(B) Prime Minister

(C) Supreme Court

(D) Centre for Science and Environment

73. Which one of the following is the correct food

chain?

(A) Frog SnakeGrasshopper
  Grass

(B) GrasshopperGrassSnake
  Frog Eagle

(C) Grass Grasshopper Frog
Snake

(D) EagleSnakeFrogGrass

74. The main threat of biodiversity in India is :

(A) Landslide

(B) Pollution

(C) Forest fire

(D) Habitat loss

75. Which one is not correctly matched?

(A) Lion - Gujarat

(B) Musk deer - Uttarakhand

(C) Golden cat - Uttar Pradesh

(D) Takin - Meghalaya

71. i`Foh dk og Hkkx] ftlesa tho jgrs gSa]
dgykrk gS %

(A) fup

(B) vkokl

(C) i;kZoj.k

(D) tSoe.My

72. ,u-lh-bZ-vkj-Vh- us fdlds funsZ'k ij
i;kZoj.kh; f'k{kk dk ekWMy ikB~;Øe rS;kj
fd;k\

(A) ekuo lalk/ku fodkl ea=ky;

(B) iz/kkuea=h

(C) loksZPp U;k;ky;

(D) foKku ,oa i;kZoj.k dsUnz

73. fuEu esa ls dkSu&lh Hkkstu Ük̀a[kyk lgh gS\

(A) es<dlk¡i fVM~Mk ?kkl

(B) fVM~Mk ?kkllk¡ies<d
ckt

(C) ?kkl fVM~Mkes<dlk¡i

(D) cktlk¡ies<d ?kkl

74. Hkkjr esa tSofofo/krk ds fy, eq[; [krjk gS %

(A) HkwL[kyu

(B) iznw"k.k

(C) ou vfXu

(D) oklLFkku gkfu

75. dkSu&lk ,d lqesfyr ugha gS\

(A) 'ksj - xqtjkr

(B) dLrwjh e`x - mÙkjk[k.M

(C) lqugjh fcYyh - mÙkj izns'k

(D) Vkfdu - es?kky;
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76. India’s highest waterfall is situated at :

(A) Maharashtra

(B) Arunachal Pradesh

(C) Karnataka

(D) Uttarakhand

77. Maximum wheat producing country in the

world is :

(A) India

(B) China

(C) United States of America

(D) Russia

78. Which one factor of environment does not

affect human health?

(A) Water

(B) Soil

(C) Air

(D) Wildlife

79. In which of the following state, shifting

agriculture is practiced?

(A) Bihar

(B) Kerala

(C) Mizoram

(D) Punjab

80. The major greenhouse gas is :

(A) CFC

(B) CO

(C) CO2

(D) Freon

76. Hkkjr dk lcls Å¡pk tyizikr fLFkr gS %

(A) egkjk"Vª esa

(B) v#.kkpy izns'k esa

(C) dukZVd esa

(D) mÙkjk[k.M esa

77. fo'o esa lokZf/kd xsgw¡ iSnk djus okyk ns'k gS %

(A) Hkkjr

(B) phu

(C) la;qDr jkT; vesfjdk

(D) :l

78. ekuo LokLF;] i;kZoj.k ds fdl dkjd ls
izHkkfor ugha gksrk gS\

(A) ty

(B) e`nk

(C) ok;q

(D) oU;tho

79. fuEufyf[kr esa ls fdl jkT; esa LFkkukUrj.k
Ñf"k gksrh gS\

(A) fcgkj

(B) dsjy

(C) fet+ksje

(D) iatkc

80. izeq[k xzhugkml xSl gS %

(A) CFC

(B) CO

(C) CO2

(D) ÝhvkWu
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81. Which is not a component of soil?

(A) Water

(B) Air

(C) Humus

(D) Surface Cover

82. Pollution can be reduced by :

(A) Recycling

(B) Gas formation

(C) Both (A) and (B)

(D) None of the above

83. The mineral that is found in great amount in

India is :

(A) Uranium

(B) Thorium

(C) Mica

(D) Tin

84. Hotspots of biodiversity in India is :

(A) Rajasthan

(B) Gujarat

(C) Western Ghats

(D) Uttarakhand

85. Which of the following is responsible for

cause of acid rain?

(A) CO2

(B) SO2

(C) NO2

(D) Both (B) and (C)

81. dkSu ,d e`nk la?kVd ugha gS\

(A) ty

(B) ok;q

(C) thoka'k

(D) Hkw"Bh; vkoj.k

82. iznw"k.k dks de fd;k tk ldrk gS %

(A) pØh;dj.k ls

(B) xSlh;dj.k ls

(C) nksuksa (A) rFkk (B)

(D) mijksDr esa ls dksbZ ugha

83. [kfut tks Hkkjr esa vf/kd ek=k esa ik;k
tkrk gS] gS %

(A) ;wjsfu;e

(B) Fkksfj;e

(C) ekbdk

(D) fVu

84. tSofofo/krk lEcfU/kr Hkkjr dk rIr LFky
gS %

(A) jktLFkku

(B) xqtjkr

(C) if'peh ?kkV

(D) mÙkjk[k.M

85. fuEu esa ls dkSu ^vEyh; o"kkZ* ds fy,
mÙkjnk;h gS\

(A) dkcZu MkbvkWDlkbM

(B) lYQj MkbvkWDlkbM

(C) ukbVªkstu MkbvkWDlkbM

(D) nksuksa (B) rFkk (C)
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86. Maximum ‘AIDS’ patients in the world are :

(A) Male

(B) Female

(C) Children

(D) Older people

87. What do you understand by W.W.F.?

(A) World Wrestling Federation

(B) World Wildlife Fund

(C) World Wealth Fund

(D) Woman Wrestling Federation

88. In lake ecosystem, pyramid of biomass is :

(A) Upright

(B) Mixed

(C) Inverted

(D) None of the above

89. ‘Human Rights Day’ is celebrated in the world

on :

(A) 10 December

(B) 10 November

(C) 5 June

(D) 15 December

90. Biodiversity is not affected by :

(A) Urbanization

(B) Intensity of Rainfall

(C) Soil Erosion

(D) Ecotourism

86. fo'o esa lokZf/kd ^,M~l* ds jksxh gSa %

(A) iq#"k

(B) efgyk,¡

(C) cPps

(D) o`) yksx

87. W.W.F. ls vki D;k le>rs gSa\

(A) oYMZ jslfyax QsMjs'ku

(B) oYMZ okbYMykbQ Q.M

(C) oYMZ osYFk Q.M

(D) owesu jslfyax  QsMjs'ku

88. >hy ds ikfjfLFkfrd ra= esa tSfod Hkkj dk
fijkfeM gksrk gS %

(A) lh/kk

(B) fefJr

(C) mYVk

(D) mijksDr esa ls dksbZ ugha

89. ^ekuokf/kdkj fnol* fo'o esa dc euk;k
tkrk gS\

(A) 10 fnlEcj

(B) 10 uoEcj

(C) 5 twu

(D) 15 fnlEcj

90. tSofofo/krk ugha izHkkfor gksrh gS %

(A) uxjhdj.k ls

(B) o"kkZ dh rhozrk ls

(C) eǹk vijnu ls

(D) ikfjfLFkfrd i;ZVu ls
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91. “Saving the Ozone Layer” conference was

held at :

(A) London

(B) Stockholm

(C) Paris

(D) New Delhi

92. Which one is not a characteristic of

ecosystem?

(A) Ecosystem is a closed system

(B) Ecosystem is dynamic

(C) Solar energy is prime in an

ecosystem

(D) Ecosystem has a certain area on land

93. How many biosphere reserves have been

established in India?

(A) 10

(B) 11

(C) 12

(D) 13

94. Penguin bird is native creature of :

(A) Norway

(B) Greenland

(C) Alaska

(D) Antarctica

95. The most important element in body of an

organism is :

(A) Nitrogen

(B) Carbon

(C) Oxygen

(D) Argon

91. ^^vkst+ksu ijr cpkvks** lEesyu lEiUu gqvk
Fkk %

(A) yUnu esa

(B) LVkdgkse esa

(C) isfjl esa

(D) ubZ fnYyh esa

92. dkSu&lk ,d ikfjra= dh fo'ks"krk ugha gS\

(A) ikfjra= ,d ca/kk ra= gS

(B) ikfjra= xR;kRed gksrk gS

(C) ikfjra= esa ÅtkZ ¼lkSf;Zd½ lcls
egÙoiw.kZ gS

(D) ikfjra= Hkwry ij ,d lqfuf'pr {ks=
/kkj.k djrk gS

93. Hkkjr esa fdrus thoe.My fjtoZ LFkkfir fd,
x, gSa\

(A) 10

(B) 11

(C) 12

(D) 13

94. isafXou i{kh dk ewy LFkku gS %

(A) ukosZ

(B) xzhuyS.M

(C) vykLdk

(D) vaVkdZfVdk

95. tho ds 'kjhj esa lcls vf/kd egÙoiw.kZ rÙo
gS %

(A) ukbVªkstu

(B) dkcZu

(C) vkWDlhtu

(D) vkxZu

[P.T.O.]
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96. The main protected animal of Kaziranga

biosphere is :

(A) Tiger

(B) Blue Bull

(C) Lion

(D) Rhinoceros

97. Largest size animal on the earth is :

(A) Blue Whale

(B) Elephant

(C) Rhinoceros

(D) Hippopotamus

98. “Indian Board of Wildlife” was established

in :

(A) 1952

(B) 1972

(C) 1980

(D) 2000

99. Ecology deals with :

(A) Birds

(B) Cell formation

(C) Tissues

(D) Relation between organism and

their environment

100. Ecological Pyramid was designed by :

(A) Clement

(B) Charles Elton

(C) Ben Kingsley

(D) S.G. Bold

96. dkthjaxk thoe.My dks"k esa eq[; lajf{kr
tkuoj gS %

(A) ck?k

(B) uhyxk;

(C) flag

(D) xSaMk

97. i`Foh ij lcls fo'kky vkdkj dk tho gS %

(A) Cyw Ogsy

(B) gkFkh

(C) xSaMk

(D) nfj;kbZ ?kksM+k

98. ^^bf.M;u cksMZ vkWQ okbYMykbQ** dh LFkkiuk
gqbZ Fkh %

(A) 1952 esa

(B) 1972 esa

(C) 1980 esa

(D) 2000 esa

99. ikfjra= lEcfU/kr gS %

(A) i{kh ls

(B) lsy fuekZ.k ls

(C) Ård ls

(D) tho&tUrq ,oa muds i;kZoj.k ds lkFk
lEcU/k ls

100. ikfjfLFkfrd fijkfeM dks fMtkbu fd;k Fkk %

(A) DyhesaV us

(B) pkYlZ ,YVu us

(C) csu fdaXlys us

(D) ,l-th- cksYM us



KNP/ENV. STD./0510-C/50000 (  23  )

Rough Work @ jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiq fLrdk es a dk sbZ deh gk s ] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ysaA

A C D

A D

A C D

B

A C D

A D

A C D

B


